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QUESTION 1

What is the primary purpose for using the INCLUDE clause with a CREATE UNIQUE INDEX statement? 

A. To override the limit on index key columns. 

B. To further enforce the uniqueness of index values. 

C. To combine two or more indexes to create a single unique index. 

D. To improve performance of some queries by allowing index-only access. 

Correct Answer: D 

 

QUESTION 2

Which statement about BEFORE triggers is FALSE? 

A. A BEFORE trigger can be used to perform validation of input data. 

B. A BEFORE trigger can be used to automatically generate values for newly inserted rows. 

C. A BEFORE trigger is fired for each row in the set of affected rows before the trigger event executes. 

D. A BEFORE trigger is fired for each row in the set of affected rows instead of executing the trigger event. 

Correct Answer: D 

 

QUESTION 3

What is the purpose of a role? 

A. To define exactly what a specific user can do within a particular database once they have been authenticated. 

B. To group a collection of privileges together so that they can be simultaneously granted to and revoked from multiple
users. 

C. To establish a credible relationship between DB2 and an external entity, such as a database administrator or a
middleware server. 

D. To group a collection of users together so that they can be simultaneously granted and revoked specific authorities
and privileges. 

Correct Answer: B 

 

QUESTION 4

Which two DB2 objects can a view be derived from? (Choose two.) 
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A. View 

B. Index 

C. Table 

D. Trigger 

E. Procedure 

Correct Answer: AC 

 

QUESTION 5

Which DB2 object can be used to improve the execution performance of qualified SELECT statements? 

A. Trigger 

B. SQL Procedure 

C. Sequence Object 

D. Materialized Query Table 

Correct Answer: D 

Latest C2090-610 Dumps C2090-610 VCE Dumps C2090-610 Study Guide

Powered by TCPDF (www.tcpdf.org)

Latest C2090-610 Dumps | C2090-610 VCE Dumps | C2090-610 Study Guide                                3 / 3

https://www.geekcert.com/c2090-610.html
https://www.geekcert.com/c2090-610.html
https://www.geekcert.com/c2090-610.html
http://www.tcpdf.org
https://www.geekcert.com/c2090-610.html
https://www.geekcert.com/c2090-610.html
https://www.geekcert.com/c2090-610.html

